I

FHERRIR LEERIE SV — T DIEE)

B E—E (2007FE)

K 4 B

#w B FrHFE AR AR EREFR - 8%
EEis < AH#REHENIEH - 0%
RN —88 ABREERHENTER - B
EF —F AE#REREP R - 8%
A fE AHRERETRFH - 832 (1R 1LY
ki M ABREFHEPTERE - BT
AE iR AFREFHERFER - FET
T R AHRERFER - BHIKR

REFBEE fEFT AW & AR EFRENTER 5 FR (BEHFEE)
mE S ANHEREFENFER 5 £k (RHPER)
HE RE ABRERHEFER b Fik (IFRFIESR)
BT+ NEHRERIFEHFER b 3k (B FHEWIZESR)
KA &F AR EFEMIER b Fk (RHMESE)
=R & ANEHEERHEDIZER 5 ik (G HRIER)
KHF AFEIRERIEFER 5 Sk (HERTTE=)
alliEkEs ANE#RERHETZER 4 FR  (HOMER)
EIIPN ANBAREFHENZER 4 £k (FHERE=E)
AH AKX AFRERFERAER 4 Fk FHAPER)
WH fEF AFEERHENZER 4 Fk (FIEHRES)
HH KA AHREREDFER 4 R (ERFREZE)
JANE SR ARBEERENEM 3FEX  (EHOMERE)
RE HZ ANFEARERENER 3£k (HHAMRESE)
KHE FH AFRESREMAER 2 £k (HHfEE)
=8 BR ANBERERFRZER 2 £k (ROMRE)
HEAET AFHEHENER 2 FR  (FIHEFRESR)
B EmE ANFERERHENER 2k (BIFHIER)
He HH ANHRERHENZER 2 £k (FHER)
BE FE ABIREFEMERN 2 FR  (ERFER)
A Z ANERSHENER 2 FER  (FHHEE)
MEE BT ANBREERFITSER 1 £k FFHFmMREE)
Bl KE AFREREFZER 1 £k (BIRREE)
ZR TH ANFRERERER 1 R (EONESE)
EH ET ANEREFEIER 1 £k HE=E)

_45_



I

FEKXERZERAOEERE (FEHERE) FEBWME (20065FE)
(1) #MFERIAHKR
WX 5 49 58 6H 78 8F 98 10H 118 12H 1A 2H 38 &%)
SEE R 2 1 1 1 0 2 1 0 3 1 1 1 14
HERE R 26 18 13 13 12 13 15 1 15 11 17 22 186
LEHEmE 6 8 11 7 0 9 9 8 3 9 5 9 89
A E B 1 0 0 0 0 0 0 0 0 0 2 0 3
&8 B 3% 27 25 21 12 24 25 19 26 21 25 32 292
(2) THEENRIEOMR - £8 (20064 EFHEAHHRE O M)
F B R R & 7
0-2 0 0 0
3-5 1 0 1
6-38 2 3 5
9-11 2 3 5
12-14 1 2 3
15-17 0 0 0
18-20 0 0 0
& &t 6 8 14
(3) EFDOWER (006EFEFHMHREDOA)
B %
B 3
Wi 1
1T - Lo 0
FERER 0
B - R 0
FEDEN 1
118 - 185 7
xF ABE % 0
DAl 2
& &t 14

_.46..



	0031.tif
	0032.tif

